7.1.1
7.1: Area of a Region Between Two Curves

Because the definite integral represents the “net” area under a curve, we can use integration to
find the area between curves.

If fand g are continuous and f(x) > g(x) on [a,b], then the area between y= f(x), y=g(x),
and the lines x=a and x =5 is given by
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4 Note: If g(x)= f(x) on [a,b], then jb[f(x)— g(x)]dx is negative.

Some different types of area scenarios:
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Example 1:
and x =

7.1.2
/nd the area of the region bounded by f(x)=x’—1 and the lines y=0, x
4.
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Example 2:
and x=2r.
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Find the area of the region bounded by y =cosx, y =sinx, and the lines x=0
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7.1.3
Example 3:  Find the area of the region completely enclosed by the graphs of y=x*+1 and

y=2x+9 | 10\4\(‘5&;&5?0\/\ TAY% - Sodr ‘Q\S ebeO&‘f
2.
, ) AN = Ik 9
Wt <Y = ﬁ-*of" \aoMonn
tory ) F-1x-826
= -YF42%+ 3 (—+ -4) (’XJ«?.) =6
-—;\—:4) s -7 DU wne r.o_agsaw\m}\ooq} 'F\rows

ALTS S« @’x—t 9 — (& +\% Ane o

- g:}@x—ks —g —§dﬁ< = S_A\Z C—’sz*'zf* 9\0\’7‘

2 A\ A 43 -z 7 [N N-8(-2
- "%\ . 7::?\_7/* &KY - i”?) (2 <ot 3
-z

—

Example 4: Find the area of the region completely enclosed by the graphs of y = x’ and \

y=x.
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7.1.4
Example 5:  Find the area of the region completely enclosed by the graphs of x = y* and
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Example 6: Find the area of the region completely enclosed by the graphs of x=3—y” and
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